
 Page       1 of 1

 

 

PARTS LIST
DESCRIPTIONQTYITEM

Galvinsed 
Steel Leg

31

50x50 profile102
M6x70mm 
coach bolt

303

Hexagon 
Domed Cap 
Nuts

154

M6 nut155
M6 washer306

 

 

Lay a 50x50 profile 
on the ground 
to assist with aligning
the legs. 

Place Profiles on legs. 
Using hammer lightly tap 
bolts through profiles then 
bolt down using M6 nuts 
and M6 washers

Mallee Park Bench Seat  - Seat250
Assembly Instructions

3

6

5

4

1

2

1

1

Step 1:

Step 2:

5

6

3

Place Profiles on back. 
Using hammer lightly tap 
bolts through profiles then 
bolt down using M6 nuts 
and M6 washers

4
63

TOOLS REQUIRED:
 
- Shifting spanner to tighten nuts.
 
- Hammer to tap coach bolts through 
  profiles
 
 

Step 3:

M6 Washer 
M6 Cap Nut

M6 Washer 
M6 Nut

Lay a 50x50mm batten profile on the ground to assist with 
aligning the legs.

Place battens on legs. Lightly tap bolts through battens with 
hammer then secure using M6 nuts and M6 washers

TOOLS REQUIRED:

•	Shifting spanner to tighten nuts.

•	Hammer to tap bolts through battens.

PROVIDED:

 

 

PARTS LIST
DESCRIPTIONQTYITEM

Galvinsed 
Steel Leg

31

50x50 profile102
M6x70mm 
coach bolt

303

Hexagon 
Domed Cap 
Nuts

154

M6 nut155
M6 washer306

 

 

Lay a 50x50 profile 
on the ground 
to assist with aligning
the legs. 

Place Profiles on legs. 
Using hammer lightly tap 
bolts through profiles then 
bolt down using M6 nuts 
and M6 washers

Mallee Park Bench Seat  - Seat250
Assembly Instructions

3

6

5

4

1

2

1

1

Step 1:

Step 2:

5

6

3

Place Profiles on back. 
Using hammer lightly tap 
bolts through profiles then 
bolt down using M6 nuts 
and M6 washers

4
63

TOOLS REQUIRED:
 
- Shifting spanner to tighten nuts.
 
- Hammer to tap coach bolts through 
  profiles
 
 

Step 3:

M6 Washer 
M6 Cap Nut

M6 Washer 
M6 Nut

 

 

PARTS LIST
DESCRIPTIONQTYITEM

Galvinsed 
Steel Leg

31

50x50 profile102
M6x70mm 
coach bolt

303

Hexagon 
Domed Cap 
Nuts

154

M6 nut155
M6 washer306

 

 

Lay a 50x50 profile 
on the ground 
to assist with aligning
the legs. 

Place Profiles on legs. 
Using hammer lightly tap 
bolts through profiles then 
bolt down using M6 nuts 
and M6 washers

Mallee Park Bench Seat  - Seat250
Assembly Instructions

3

6

5

4

1

2

1

1

Step 1:

Step 2:

5

6

3

Place Profiles on back. 
Using hammer lightly tap 
bolts through profiles then 
bolt down using M6 nuts 
and M6 washers

4
63

TOOLS REQUIRED:
 
- Shifting spanner to tighten nuts.
 
- Hammer to tap coach bolts through 
  profiles
 
 

Step 3:

M6 Washer 
M6 Cap Nut

M6 Washer 
M6 Nut

 

 

PARTS LIST
DESCRIPTIONQTYITEM

Galvinsed 
Steel Leg

31

50x50 profile102
M6x70mm 
coach bolt

303

Hexagon 
Domed Cap 
Nuts

154

M6 nut155
M6 washer306

 

 

Lay a 50x50 profile 
on the ground 
to assist with aligning
the legs. 

Place Profiles on legs. 
Using hammer lightly tap 
bolts through profiles then 
bolt down using M6 nuts 
and M6 washers

Mallee Park Bench Seat  - Seat250
Assembly Instructions

3

6

5

4

1

2

1

1

Step 1:

Step 2:

5

6

3

Place Profiles on back. 
Using hammer lightly tap 
bolts through profiles then 
bolt down using M6 nuts 
and M6 washers

4
63

TOOLS REQUIRED:
 
- Shifting spanner to tighten nuts.
 
- Hammer to tap coach bolts through 
  profiles
 
 

Step 3:

M6 Washer 
M6 Cap Nut

M6 Washer 
M6 Nut

Flat packed seat on arrivalSTEP 1: Components

STEP 2: Attaching seat battens

STEP 3: Attaching back battens

Parts List - Per Seat

Item Qty Assembly Name

1 3 Galvanised steel legs

2 10 50x50x2400mm battens

3 30 M6x70mm coach bolts

4 15 Hexagon domed cap nuts

5 15 M6 nuts

6 30 M6 washers

 

 

PARTS LIST
DESCRIPTIONQTYITEM

Galvinsed 
Steel Leg

31

50x50 profile102
M6x70mm 
coach bolt

303

Hexagon 
Domed Cap 
Nuts

154

M6 nut155
M6 washer306

 

 

Lay a 50x50 profile 
on the ground 
to assist with aligning
the legs. 

Place Profiles on legs. 
Using hammer lightly tap 
bolts through profiles then 
bolt down using M6 nuts 
and M6 washers

Mallee Park Bench Seat  - Seat250
Assembly Instructions

3

6

5

4

1

2

1

1

Step 1:

Step 2:

5

6

3

Place Profiles on back. 
Using hammer lightly tap 
bolts through profiles then 
bolt down using M6 nuts 
and M6 washers

4
63

TOOLS REQUIRED:
 
- Shifting spanner to tighten nuts.
 
- Hammer to tap coach bolts through 
  profiles
 
 

Step 3:

M6 Washer 
M6 Cap Nut

M6 Washer 
M6 Nut

1300 729 253

www.integratedrecycling.com.au

Assembly instructions
mallee bench

Place battens on back. Lightly tap bolts through battens and 
secure using hexagon dome capped nuts and M6 washers.


